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BUSINESS LAWS — GENERAL
Paper : CC-1.1Chg
Full Marks : 80

Candidates are required to give their answers in their own words

as far as practicable.
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The figures in the margin indicate full marks.

Group - A

Answer any ten questions.

. “All illegal agreements are void but all void agreements are not necessarily illegal” the statement is—

(A) True (B) False
(C) Partly true (D) Partly false.

. A price list displayed in a stationery shop amounts to

(A) an offer (B) an invitation to offer
(C) acceptance of an offer (D) None of these.
. Consideration which move simultaneously with the promise is called _____ consideration.
(A) past (B) present
(C) future (D) illegal
. Consent is said to be free when it is not caused by—
(A) Mistake (B) Fraud
(C) (A) and (B) (D) None of these.
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5.

10.

11.

12.

13.

Mistake of law can be of ___ types.
(A) two (B) three
(C) four (D) none.

cannot be adjudged insolvent.

(A) Adult (B) Alien
(C) Minor (D) All of them.
. A quasi-contractisa ____ and it is valid.
(A) legal obligation (B) contract
(C) contingent agreement (D) wagering agreement.

. The Indian Contract Act applies to the—

(A) Whole of India including Jammu and Kashmir
(B) Whole of India excluding Jammu and Kashmir
(C) States notified by the central government from time to time

(D) States notified by the appropriate Government every year.

Auction sale is completed—

(A) by delivering goods

(B) by paying the value of goods

(C) By the sound of hammer of the auctioneer
(D) All of the above are correct.

Essential element for a valid contract of sale—

(A) Property (B) Movable goods

(C) Parties (D) All of these.

A partner of an unregistered firm can sue for __ of the firm.

(A) Reputation (B) Power

(C) Dissolution (D) None of these.

The principle of ____ is applicable to partners in a partnership business.
(A) Utmost Goodfaith (B) Blind faith

(C) Insurable interest (D) Ultimate trust.

LLP is managed as per—
(A) LLP Deed (B) LLP Agreement
(C) LLP Rules, 2006 (D) LLP Book.
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Highest number of members in a Partnership business is—

(A) 100 Persons (B) 50 Persons

(C) 10 Persons (D) 20 Persons.

‘Disadvantage’ of LLP will be—

(A) Admission of new partner (B) Lack of awarness among general public
(C) Stringent rules of FDI (D) All of these.

Which of the following is not a content of LLP agreement?

(A) Name of LLP (B) Prospectus

(C) Profit sharing ratio (D) Projected business.

Which of these instruments are not considered as a Negotiable Instrument?

(A) Treasury Bill (B) Money receipt
(C) Cheque (D) AIll of these.
The definition of Bill of Exchange has been given in the section ___ of NI Act., 1881.
(A) 4 (B) 5
(ON) (D) 7.
The Consumer Protection Act., 2019 provides six rights to the consumers as per section—
(A) 2(8) (B) 2(9)
(C) 2(10) (D) 2(6).
District Commission can be established by the—
(A) District Judge (B) Central Government
(C) State Government (D) All of these.

Group - B

Answer any twenty questions. 3x%20

. An agreement is a contract if it creates—

(A) Moral obligation (B) Social obligation

(C) Legal obligation (D) All of these.

Avik agrees to sell his cycle to Amit for I 5,000 or X 8,000. This agreementis __ under
of the Indian Contract Act., 1872.

(A) Valid, Section 10 (B) Voidable, Section 39

(C) Void, Section 29 (D) Wager, Section 30.
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3.

10.

11.

12.

. According to Section

An agreement enforceable by law is known as

(A) Promise
(C) Acceptance

(A) Executed Contract

(B) Contract
(D) Proposal.

. According to performance, the contracts may be

(B) Executory Contract

(C) Partly executed and Partly executory (D) All of these.

. Mode of Acceptance—

(A) Verbal
(C) By conduct

(B) Writing
(D) All of the above.

no is necessary to create an agency.

(A) 175, consent
(C) 165, offer

(B) 185, consideration
(D) None.

. Which of the following is not an exception to the rule “No consideration, No contract”?

(A) Out of natural love and affection (B) Completed gift

(C) Agency

. The bailment of

(A) goods, pledge

(C) product, services

(A) Damages in suit
(C) (A) and (B)

Termination of contract by
(A) Mutual, Five
(C) Valid, Four

In the English case,
party”.

(A) Currie vs. Misa
(C) Cox vs. Hickman

Rules regarding delivery—
(A) Delivery and payment
(C) Expenses of delivery

(D) None of these.

as security for payment of a Debt or performance of promise is called

(B) rule, void

(D) services, void.

. Rights of Indemnity Holder—

(B) Costs of suit
(D) None of these.

Agreement canbe of ___ types.
(B) Original, Six
(D) Illegal, Six.

, consideration was defined as “some right, interest, profit accruing to one
(B) Pollock vs. Misa

(D) None of these.

(B) Buyer to apply for delivery
(D) All of the above.
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Essential element for a valid instalment sale—
(A) Transfer (B) Movable goods
(C) Parties (D) All of these.

Which of the following is not an implied condition in a contract of sale?
(A) Condition as to title

(B) Condition as to sample

(C) Condition must be free from encumbrance

(D) Condition as to a quality.

‘Delivery’ of goods in the Sale of Goods Act, 1930 can be—

(A) Actual (B) Constructive

(C) Symbolic (D) All of these.

Accordingto | Partnership is the relation between persons who agree to carry on a business in
common with a view to private gain.

(A) Haney (B) Pollock

(C) Kimball (D) Salmond.

Agni, a contractor, appointed Paban to manage his entire work. It was agreed that Paban would receive
40% of the profits as his remuneration and would bear all the losses, if any. Here, Paban is—

(A) Partner (B) Agent
(C) Sole Proprietor (D) None of these.

When a partner of business transfers his share of profit to another person, then it is called—
(A) Nominal partner (B) Sub partner
(C) Inactive partner (D) None of these.

If all the partners are insolvent then it is
(A) Dissolution of an agreement (B) Compulsory dissolution of firm

(C) Dissolution of mutual agreement (D) None of these.

The true test of partnership is validated in the case of—
(A) Mollow March & Co. vs. the Court of Wards

(B) Nash vs. Inman

(C) Garner vs. Murray

(D) A K Das vs. CIT.

Limited Liability partnership administrated by—
(A) Company Secretary (B) Cost Accountant
(C) Registrar of Companies (D) Chartered Accountant.
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22.

23.

24.

25.

26.

27.

28.

29.

30.

Partners are agents of LLP but not the agents of other partners, explained in section __ of LLP
Act.

(A) 25 (B) 26
©) 27 (D) 28.

In Negotiable Instrument Act., 1881 ‘Endorsement’ means—

(A) transfer of a negotiable instrument from one person to another
(B) It’s an order to pay

(C) the intention to transfering the rights on any instrument

(D) All of the above.

Which of the following is negotiable instrument?
(A) Bill of exchange and Cheque (B) Promissory note and Bill of exchange
(C) Promissory note and Cheque (D) All of these.

A Negotiable instrument is discharged by—

(A) Cancellation (B) Release

(C) (A) and (B) (D) None of these.

A Bill is called Fictitious Bill whenthe __ of the drawer or the payee or both are fictitious.

(A) name (B) position

(C) designation (D) role.

The ___ cannot lodge a complaint under the Consumer Protection Act., 2019.

(A) Person (B) Corporate

(C) Trust (D) AlL

The Central Council shallbethe _ Council.

(A) State (B) Advisory

(C) Non-statutory (D) None of these.

The word ___ has been included in the definition of ‘Goods’ as per Consumer Protection
Act., 2019.

(A) Telecom (B) Food

(C) e-commerce (D) Hospital.

The Consumer Protection Act., 2019 has introduced the concept of ___ | which will protect, promote

and enforce the rights of consumers.
(A) Central Commission (B) State Commission

(C) Central Consumer Protection Authority (D) District Commission.



